EARAROBEEIERT — 2 N— IBISH —F

201868270 (k) 6mEAH3H

RN srox< A# 5K ¥SR3MI 69HE2207%M (w1 w [ isemm — |5 o) o0 &
[x&<£] 1 7% :1,600,000 @ 23 :640,000 @ ~ 3 37 :400,000 @ ~ 4 3 :240,000 @ ~ 5 7 :160,000 M
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
: 67T a—IiN b= 3 59?352 1:(4_5).7 2222 |41.8] — | 1 | 472 Eg.%%i (k3)
L:UA7% BAAHATN—-F1> (#2) #"HET7—L4
o s HEE 145, -10-9~ . - FE5LZ (KFH)
» o | E=ZTNE LR 4 3 s 1(745!:? 10-10-9-9 | 40.9 6 (4:153) s
L:O—J X144 B:TANINIE— Eld=tie
e . A 145, -1-1- . - ETEH (\E)
3055 | 7T 3 e (172578) 1-1-1-1 | 41.9 9 (5_080) o :j/:\jﬁ%
R:Zv—b77)ba> B:AY45O-X fVakie]
N FHEFE : -0-8- = REE (KH)
417l s AXEY 4 H— H 3 EE 1.(426).2 9-9-8-7 | 41.2 5 :_338) @ég
L:T7—=0T74—X BvAIXNYLH EvJILy RTp—L
NPRTES . PEAIIE 146. ~4-3- . — AR (KHF)
5 sl revrrFTe 3 B (11416/25) 4-4-3-2 | 42.3 7 (459) e
R:hT/RIA4T B:T77=2—%% BEIFHS
S S Rt 146. =7 X = AR (KH)
ol1ls XA FoLT 3 Fi 1(416)7 8-7-7-8 | 42.1 2 (5+143) i
RV RKYIYRIRX B:Ya /I R>F AR T T 3 ket
_ HHEfEA : 34— — FIMZE (KH)
7 71 Fvoayra 3 = (12417/22> 3-3-4-4 | 43.3 3 (4;9) s
L=/ XLLy b BikyIRy D EHE% S
8 P S, [© L1z B : -8-10- = EFRBE (KH#H)
8 4| FACE 4 3 o 1(;{::)3 7-8-10-10 | 42.0 11 ::121) %#%Fﬁ&
R:8Z/F¥LLy b B:g4xOCFK N—FEZ—Z by T T7—L
— LIAERAE .47, ~5-5- . - IEE=E (KFH)
91810 oA TS 4 3 % 1(437)9 5-5-5-5 | 43.7 10 :1_330) i %;HI%U%
L:Gr—-=3UT7> BLF4XU4T b Gt e
. EHE :48. === . = B (KH)
1017 9 THF 4 3 Asﬁ) 1(4‘88 11-11-11-11 42.7 4 (4+235) i
R:AYaizgr—X B:ehlozAT Eviliicie]
o . 1Ly R : —6-6- - BER (KH)
111811 ATV N 4 3 o] 1.(459>.9 6-6-6-6 | 45.8 8 ;1_520) %Z?EE%%K
R:T5v 784K B:RXATF> TS
@ 1 — S —EBlIEf
13=7r= 5,6,7,3,10,11,4,1,8,2,9
2= = 5,6,7,3,10,11,1,4,8,2,9
Gal=5r= 5,6,3,7,10,11,1,8,2,4,9
43—+— |5,(3,6),7,10,11,8,1,2,4,9
[ N3
BB 6 300H 714K 2-6 480M % E 2-6 840M 3EHE 2-5-6 7,330M
8 B 6 140 5-6 920M B 6-2 1,240 K31 6-2-5 22,280
2 280M 2-5 2,320 B E 2-6 1,100M
5 440M B H 6-2 1,900

ABICOVWTRDTEEERROODE. TR LIV,




